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Definition for Bode plots:

s (f) = 2-nf

e(Fn) = arg( Fn)

180

dB(Fn) := 20-log(|Fn|)

bode(TF ,s) =

—_—
—

mag<«— 20~Iog(|TF(s)|)
—_

phz « arg(TF(s)) 180

jmp« 1

for nel.. Iast(s) -1

posjmp <~ n+1

jmp <« jmp +1
for xel.jmp -1

for z e posy .. Iast(s)

phZZ < phZZ + g’]x

o)

diff < phzns1 — phzn

if (diff > 180) + (diff < —180)

if diff >0

360 otherwise

if jmp>1

Dl

start := 10Hz

Amplifier Gain calculation
fields which are highlighted in yellow are user inputs

fields which are highlighted in Blue are calculation results

Select frequency range

end := 100kHz

nmpts := 5000

Amplifier bandwidth factors :

GBP := 1000kHz
LPF := 300Hz

R1 = 1kQ
C1 = 100nF

Rin = 1kQ

Cs = 47nF
C3

R, = 1kQ
C, = 470nF




Z1(s) = R1+ i
Zin(9) = Rin | Za(9)

Zp(9)
Zin(9)

GEAided (9) =

1

Pe = 1+ |Geaidea (9)]

Finite open loop gain:

GBP 1
Avo(9) =

1
Zy(9) = Ry+—
sC, 2(9) 2t 3G,

Zin(9 = Re | [ZZ(s) I [si%ﬂ

Nonideal OP-Amp effects : Finite open loop gain

LPF s s
1+ 11+
( Z-ﬂ-LPF) ( 2-7T-GBP)

nonideal error amplifier gain :

Gea(9 = Geaideat (8 ——— -

1+ —
Avo(9)-B(9)

Geamyg Gea_ideal mag AVOmy
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